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1. Consider the following statements :
1. Jhelum River

passes through
Wular Lake.

2. Krishna River di

rectly feeds Kolleru
Lake.

3. Meandering of
formed Kanwar Lake.

How many of
above are correct?

(@) Only one
(b) Only two
(c) Al three
(d) None

2. Consider the following pairs :

Port Well known as
1. Kamarajar Port :
2. Mundra Port

port in India
3. Visakhapatnam -

: Largest container port in
Port

India

How many of the above

pairs are
correctly matched?

(a) Only one pair
(b) Only two pairs
(c) All three pairs
(d) None of the pairs

3. Consider the following trees :
1.
2. Mahua (Madhuca indica)
3. Teak (Tectona grandis) -

How many of the above are deciduous

trees?

(a) Only one
(b) Only two
(c) All three
(d) None

XDTG-F-GST/62A

Gandak River

the statements given

First major port in India
registered as a company

: Largest privately owned

Jackfruit (Artocarpus heterophyilus)

7. About three-fourthg o

4. Consider the following statements :

1. India has more arable area than
China.

2. The proportion of irrigated aregq is
more in India ag Compared tqo
China.

3. The average productivity per
h<_:ctare in Indian agriculture is
higher than that in China,

How many of the above

sl Statementg are

(@) Only one -

(b) Only two

(c Al three

(d) None

5. Which one of the follow; i
Ng is the p
€xample of Tepeated f; i ot
giving rige 2ls In

Sea level,
ay extensiye

(a) Bhitarkanikg Mangroyeg
(b) Marakkanam, Salt Pang
() Naupada Swamp

(d) Rann of Kutc’h

to present.
marshland? Presentd

6. Ilmenite ang rutile,

X : abung
In certain coastg] antly ava

illab
Trich sources of 3}?1(:;}? ognindia, arl'g
following? of the
(@ Aluminium
(b) Copper
) Iron

(d) Titanium

} f world’s cobalt
a metal required for the Manufacty re
of batteries for electric motor vehjcleg
is produced by :

(@) Argentina ~
(b) Botswana

(c) the Democratic Republic of the
Congo

(d) Kazakhstan

[PT.0.



8. Which one of the following is a part of
the Congo Basin?

(@ Cameroon

¥1. Consider the following statements -
Statement-1 :

India,  despite having  uranium
(b) Nigeria clieposits,_d.epends on coal for most of
South Sug its electricity production.
(¢} South Sudan Statement-I] -
(d) Uganda

Uranium, enriched to the extent of
at least 60%,

: iIs required for the
production of electricity.

9. Consider the following statements :
1. Amarkantak Hills are at the

confluence  of Vindhya ang Which one of the
Sahyadri Ranges.

Biligirirangan Hills constitute the
easternmost part of Satpura Range.

t-I and Statement
are correct ang Statement—y is thIé
3. Seshachalam Hills constitute the correct explanation for Statement_j
southernmost part of Western (b) . Both Statement. |
—l and St
Ghats. are correct ang S atemfnt =
How many of th

€ statements given ot the
above are correct?

or
] Statement-J is o
Trect
(c;) gnlly one Statement-J1 ig incorrect © R
nly two
(b) y (d) Statement 4 incorrect but
(c) Al three Statement-Jp is correct
(d) None

12. Consider the followin
10. With reference to India’s

g statementg :
projects on

Statement-J
connectivity, consider the following Marsupials are not na .
statements : India, turally found jp
1. East-West Corridor under Golden StatementI7 -
Quadrilateral Project connects Marsupials can thrive on] B
Dibrugarh and Surat. grasslands with ngo preda};ors‘montanc
2. Trilateral Highway connects Moreh

in Manipur and Chiang Mai in
Thailand via Myanmar.

3. Bangladesh-China-India- Myanmar
Economic Corridor conne(':ts
Varanasi in Uttar Pradesh with
Kunming in China.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

XDTG—F—GST/GZA

Which one of the followin

) 8 is correct
In respect of the above statementg?

(a) Both Statement-] and S
“  are correct and Statem
correct explanation for

tatcmcnt—n
ent-II is the
Statement—l
(b) Both Statement-I and Statement-Iy

are correct and Statement—|] is

not the correct explanation for
Statement-I

(c) Statement-I is  correct but
Statement-II is incorrect

(d) Statement-1 is incorrect but
Statement-II is correct

[P.T.0.



13. Invasive Species Specialist Group’ (that
develops Globar—

I‘nVasive\Species
Database) belongs t,

0 which one of the
following organizations?
(@ The Internationa] Union for
onservation of Nature

(b) The United Nations Environment
Programme

(c) The United

(d) The Worldg Wide Fund for Nature

14. Consider the following fauna -

1. Lion-tailed Macaque

2.  Malabar Civet

3. Sambar Deer

How many of the above are generally
nocturnal or most active after sunset?

(@) Only one
(b) Only two
(c) All three

(d) None

15. Which of the following organisms pe_rform
waggle dance for olhcrs of their kin
to indicate the directlop f';md’ the
distance to a source of their food?

(a) Butterflies
(b) Dragonflies

(c) Honeybees

(d) Wasps

XDTG-F-GST/62A

16. Consider the following statements :

1.

Some mushrooms haye medicinal
Properties.

Some mushrooms haye psycho-
active Properties.

Some mushroomsg have insecticidal
Properties,

Some mushroomg have biolumj-
nescent Properties.

How many of the above statementsg are
correct?

(a)
(b)
(c)
@

17. Consider the
regarding the In

1.

Only one
Only two
Only three

All four

fpllowing Statements
dian squirre]g :

They build nestg by making
burrows in the ground,

They store their foo

d materials like
nuts and seeds in

the groungd.

They are omnivorous,

How many of the above statements are
correct?

(@)

Only one
Only two
All three

None

[P.T.0.



18. Consider the following statements -
1. Some microorganisms can grow

in environments with temperature

above the boiling point of water.

2. Some microorganisms can grow
in environments with temperature
below the freezing point of water.

3.

Some ganisms can grow
I highly acidic environment with
below 3.

How many of the

above statements are
correct?

(@) Only one
(b) Only two
(ef” Al three
(d) None

(a) Fishing cat
(b) Orangutan
(c) Otter-

(d) Sloth bear

20. Consider the following :
1. Aerosols
Foam agents

Fire retardants

AW N

Lubricants

In the making of how many of the above
are hydrofluorocarbons used?

(a) Only one

(b) Only two

(c) Only three

(df Al four

XDTG-F-GST/62A

21. Consider the following statements :
Statement-I : .
Interest income from the deposits

in Infrastructur

e Investment Trusts
(InvITs) distributed to their investors is

ax, but the dividend ig
taxable. .. —
Statement-J -
InviTs are récognized ag borrowerg
’, under the ‘Se

Curitization and
struction of nancial
Enforcement of Secun'ty
2002’,

Which one of the followin
Tespect of the g

g is Correct in
bove statements?
(a) Both State

Recon-
Assets and
Interest Act,

s I is the

1on for tatement—I

(b) Both Statement—g and Statement-II
are correct and —~

(c) Statement—j is Correct
Statement—ll is inco

but
Irect
(d) Statement_ is incorrect but
Statement—ll is correcy
22. Consider the following Statementg -
Statement-] :
In the post—pa.ndernic rece
, nt pa
)( -frnany Central Banks Worldwide ph::i
carried out interest rate hike
Statement-] -
‘Central Banks generally asSume thgy
they have the ability to Counteract the
rising consumer Prices vig Monetary
policy means, '

Which one of the follo

respect of the above Statementg?

(#) Both Statement-| and Statement_;
are correct and Statement—ll 1s the

correct explanation for Statement—|

Both Statement-1 anq Statement-|g

are correct and Statement—|]
not the correct ex
Statement-]

() Statement-1

wing is Correct ip

(by :
is
planation for

is correct

but
Statement-1I is incorrect
(d)* Statement-1 is  incorrect but
Statement-11 is correct
[ P.T.O.
9



23, Consider the following statements :

26. Which one of the following best describes
Statement] - ‘ t}}e concept of ‘Small Farmer Large
Carbon markets are likely to be one of X Field™
tahe.most Widespread tools in the fight (a) Resettlement of a large number
gainst climate change. -~ of people, uprooted from theijr
Statement-y - countries due to war, by giving
Carbon markets transfex: resources them a large cultivable lang which
from the Private sector to 'the State. they cultivate collectively and share
Which one of the following is correct in the produce
reéspect of the above statements? () Many marginal farmers in an ar
(@) Both Statement] ang Statemeng-I1 organize themselves  ingo g.rouf;:1
are correct angd Statement-1I is the/ and synchronize and harmonige
correct explanation for Statement-] selected agricultural Operationg
(b) Both Statement_g and Statement- ) M nal farm
— an m .
are correct ang Statement-]| s~ tOgegherar;griglif a ors In an area
not the correct explanation for a4 corporate bod g With
Statement-] their lang tq thz ond rrender
co
(c) Statement-1 ig correct byt for a fixed term fO;p?&;ﬁgethd
Statement-I] ig incorrect corporate body makes g pg}’mthe
e
(d) Statement-] IS incorrect but of agreed amount to the farrmarsnt
Statement-1] is correct . (d) A compan
24. Whij . - knowlgd gex’tgnds loa_ns,_technical
- Which one of the following activities of a bg And materia) Inputs tq
the Reserve Bank of India is considereq an r:;m €r of smal farmerg in
to be part of ‘sterilization”? agricueiitiufgl tllat they'produce the -
(a)/ Conducting ‘Open Market by the coorrr?;r)z:g,ty frequir;d
Operations’ manufacturing processor -
(b) Oversight of  settlement and commereial productigy, and
payment systems ]
(c) Debt and cash management for the 27. Consider the following Statementg
Central and State Governments . 1. The Govern t of |
A _ . men i :
(d) Regulating the funchqns of Non- 4‘ Minimum Suppor? Prrliccl:ea fgiomdes
banking Financial Institutions (Guizotia abyssinica) seeds. ger
25. Consider the following markets : 2. Nigeris cultivated as a Kharif crg
1. Government Bond Market . P
. 3. Some tribal people in India yg
2. Call Money Market / niger seed oil for cooking, ©
3. Treasury Bill Market } ’

4.  Stock Market How many of the aboy
. \ correct?

How many of the above are included

In capital markets?

€ statements are

(a) Only one
(a) -()u—l—y_o}nc/

(b) Only two
(b)  Only twos (¢) All three
(¢) Only three

(d) All four (d) None

[ P.T.0.
XDTG-F-GST/62A 2



28, Consider the invest

ments in the following
assets :

1. Brang recognition _-

2. Inventory

3.

Intellectual property v~
* . 4. Mailing 1ist of clients

How many Ve are considered
Intangible investments?

(@) Only one*

(b) Only two p

(c) Only three »

(d) Al four

of the abo

29. Consider the follgwing :

1. Demographic performance
2.  Forest and ecology ..~

3.  Governance reforms 7L

4. Stable government +

5.

Tax and fiscal efforts ¢

For the horizontal tax devolution, the
Fifteenth Fina:

nce Commission used
many of the above as _criteria
other than

pPopulation area _and income
distance? T

(a) Only two

(b) Only three ~

(¢) Only four

(d) Al five

30. Consider the following

infrastructure
sectors

1. Affordable housing

2. Mass rapid transport ¥
3.  Health care

4. Renewable ENergy
On  how

many of the
UNOPS  Sustainable
Infrastructure and

above does
Investments in

Innovation (S3i)
mitiative focus for its investments?

(a) Only one
(b)  Only two
(c) Only threes
(d) All four

XDTG-F-GST/62A

31. In essence, what does ‘Due Process of

Law’ mean?

(@) The principle of natural justice””

(b) The procedure established by law*
(c) Fair application of law.
(d) Equality before law

32. Consider the following statements
Statement-] :

regulations
-to-day administratj

Statement-I] -
In India, pris
Prisons Act, which €Xpressly
kept the subject of Prisons in the
control of Provincia] G

for the
day

on of prisons.

ons are

Which one of the fo]

lowing is correct in
réspect of the above statements?

(a) Both Statement-1

ion for Staternent—l
(b) Both Statement-1 4

nd Statement—II
are correct and Statement—II is
not the correct explanation for
Statement—]

(c) Statement—I is

correct but
.~~~ Statement-I] is Incorrect
(d) Statement-1 ig incorrect byt
Statement-11 is correct

33. Which one of the following statements
best reflects the Chief purpose of the
‘Constitution’ of a country?

(@) 1t determines the objective for the
making of necessary laws.

(b) 1t enables the creation of political
offices and a goveriment.

9 o~
()Tt defines and limits the powers of
government.

(d) 1t soclal justice,
equality and social security.

secures social

[P.T.0.



34. In India,

Which one of the following + With reference to Finance Bill and Money
K COT_\Stitutional Amendments was widely Bill in the Indian Parliament, consider
‘t&tlallevod to be enacted to OV the following statements :
" < . .
Nﬁ;ﬁﬁw of the 1. When the Lok Sabha transmits
(@ 1st Amen dment + Finance Bill to the Rajya Sabha, (L -
() a2ng Amendment? it can amend or reject the Bill. \°
(c) 44th Amendment 2. When the Lok Sabha transmits
(d) 86th endment ¥ Money Bill to the Rajya Sabha,
35 Consider 11, ) o 1t cannot amend or reject the Bill,
_§/ e ;di afolloWlng OTganizations/ it can only make rec&n},men dations,
1. The National g ission 3. In the case of disagreement
Backward Classes ] /mm or ‘;et_ween the Lok Sabha ang the
2. The National S —— : ajya Sabha, there ig no joint
Commission Rights Sitting fot,_m, Bill, but a joint
3. The National Law Commission\f S};litlgl;r;gce_l];oﬁomes necessary  for l“‘%
) 1ll. =
4. ’ll:;hg National Consumer Disputes e s'q*o{fzpb
edressal Commission How many of the abov
€ stat
How many of the anve are correct? alements are
constitutional bodies?
(@) Only one..”

(b) Only two
(c) Only three
(d) Al four

36/Consider the following statements -

1. If the election of the President
of India is declared void by
the Supreme Court of India, all
acts done by him/her in the
performance of duties of his/her
office of President before the date
of decision become invalid,

+*
2. Election for the post of the
President of India can be postponed

on the ground that some Legislative
Assemblies have been dissolved

When a Bill is presented to the

President of India, the Constitution

prescribes time limits within which

he/she has to declare his/her
assent,

How many of the above statements are

and elections are yet to take place. ;

(a) Only one

(b) Only two
(c) Al three

(d) None

38. Consider the following Statements

the Chief Wildlife Warden of the
State becomes the governing
authority of such forest -~
hunting is not allowed in such area
people of such area are allowed to
collect non-timber forest Produce
beople of such area are alloweq
traditional agricultural Practices

How many of the above statements are
correct?

t (a) bnly one
correc

(a) Only one (b) Only two
(b) Only two

(c) Al three

(c) Only three
(d) Al four

(d) None

[ P.T.O.
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39.

‘o ‘Scheduled Areas

With reference
& jollowing

i India, consider

sTatements ¢ =) :

1. Within a State, the notification, of
an area as Sched/\ﬂeﬁ_;wes
place through an Ox‘der,f’,f.’_-t-he
President. . = Al

2. The largest administrative unit
forming the Scheduled Area is the
District and the lowest is the
cluster of villages in the Block. 3

3. The Chief Ministers of the
concemed States are required to
submit annual reports to the
Union Home Ministry on the
gdmmistration of Scheduled Areas
in the States.r

How many of the above statements are

correct?

(a) Only one”
(b) Only-two
(c) All three
(d) None

40. Consider the following statements :

XDTG-F-GST/62A

Statement-I :

The Supreme Court of India has
held in some judgements that the
reservation policit?; made under
Article 16(4) of the Constitution_of
India would be limited by Arficle 335
for maintenance  of efficiency of
administrafion.

Statement-II :
Article 335 of the Constitution of

India defines the term ‘efficiency of
administration’.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-1 and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

nd Statement-1l

(b) Both Statement-I a
are correct and Statement-1l s
not the correct explanation for
Statement-!

(c) Statement-l 18 correct , but
Statement-11 18 incorrect

(d) Statement | is  incorrect but
Statement-11 18 correct

41. In which one 0
Dhanyaka
rominen
:hepMahasanghikas, located?
e

17

42. With reference to ancient

wing regions was
flourished as
ntre under

f the follo
a, which
t Buddhist c€

(a) Andhra
(b) Gandhara

(c) Kalinga —

(d) Magadha

India, consider
the following statements :

1. The concept of Stupa is Buddhist

in origin.

2. Stupa was generally a repository
of relics.

3. Stupa was a votive and
commemorative structure in

Buddhist tradition.

How many of the statements given
above are correct?

(@) Only one
(b) Only two
(c) All three

(d) None

43. With reference to ancient South India

3

Korkai, Poompuhar and Muchiri were
well known as

(a) capital cities
(b)
(c)

(d)

ports »
centres of iron-and-steel making

shrines of Jain Tirthankaras

[P.T.0
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3. Milinda-panhg

ey

44. Which op, o

f the followin
the

g explajns
. Practice of  Vattakirutal’ as
mentioneq iy, Sangam poems?
(@) Kingg employing Wwomen
| bodyguards
(b)) Llearneg Persong assembling in
royal courts tq discuss religious
and phllosophical Mmatters -
(c) Young

: S keepin
agricultyry fielq PINg watch oyer

irds anie aslsand driving away

(d A 1<i1:1g feateq I a battle
COmmit € ritug] Suicide by
Starving himself to death

45. Consider the followmg dynasties

- 1. Hoysala
2. Gahadavala
3. Kakatiya
4. Yadava
How many of the above dynastieg
€stablisheqd their kingdoms In  early
eighth Ccentury AD?
(a) Only one
(b) Only two
() Only three
(d) None

46. With reference to ancient Indian History,
consider the following pairs -
Literary work Author

: Deuichandragupta + Bilhana

: Hammz’ra-Mahakauya : Nayachandra Surj

. Nagarjuna

‘ Nl’!iuakyamrita : Somadeva Suri

How many of the above pairs are
Correctly matched?

(a) Only one

(b) Only two

(c) Only three

(d) Al four

XDTG~F—GST/62A
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47. “Souls are not only

the property of
animal and plant life, but also of rocks,

running water and many other natura]
objects not looked on a

s living by other
religious sects.” =

atement reflects one of
iefs of which one of the

(a) Buddhism
(b) J ainism -
(c) Shaivism

(d) Vaishnavism

an
kilometres long from the
capita] City?

(@) Devaraya | wt
(b) Mallikatjuna
(c) Vira Vijaya

(@ Ahmaq Shah *

tb) Mahmygq Begarhq -
(¢) Bahadyr Shah 7/
(d) Muhammad Shah

50. By which one

of the followin
was the Gover -

Actg
: Nor Generg) of engal
designated ag the Governgy ‘xene?al
of India?

(@) The Regulatmg Act
(b) The Pitt’s India Act
(¢) The Charter Act of 1793
(d) The Charter Act of 1833 ~

[P.T.O



51. Consider ) )
/)S relation 1, (J’ following  statements in
1

2.

How many of 4y
above are Correct?

(@)
(b)
(c)

th

53.
Jananj i :
Iis g g —-Suraksha Yojana
of tha Safe Motherhoeg
¢ State Health p

intervention
€partments,

Gnate) to reduce maternal -
ata mortalj among poor
nt women! ty gp

Promote

institutional
Ong

Poor Pregnant

includes Providing
facilitieg to  sick

ne year Of/age,

Statementg given
Only one

Only two

followmg Statementg ;
the  context of in €rventions lfein?;
undertaken Under Anaemia Mukt
Bharat Strategy .
.""--_.q
1. It Provides Prophylactic calcium
supplementatlon for pre-schoo]
children, adolescents ang pregnant
women
2. It runs a Campaign for delayed
cord cla Ping at the time of chilg-
birth.
3. It provides for periodic deworming
to children and adolescents, ~~
4. It addresses non-nutritional causes
of anaemia in endemic pockets
with special focus Oon malaria,
hemoglobinopathies and fluorosis.
How many of the statements given
above are correct?

(@) Only one

(b) Only two
(c) Only three
(@ All four

XDTG—F-GS’I‘/62A
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54. Consider

Consider the following statements :
1. Carbon fibres are used in the

manufacture of components used
in automobiles and aircrafts,

2. Carbon fibres once use

d cannot be
recycled.

Which of the statements

given above
is/are correct?

(a)
(b)
{c)
(@)

1 only .~
2 only
Both 1 anqg o

Neither 1 nor 2

the following actions

1. Det_ection of car crash/collision
which results ip the deployment of
airbags almost instantaneously

Detection of accidental freq fall of
a laptop towards the groung which
results in the immediate turning off
of the harg drive

In how many of the abovye actions ig the
function of accelerometer Tequired?

(@) Only one
(b} Only two
(c) All three
(d)

None

[P.T.0.



55. With refore

. i ies has
. Nce to the role of biofilters 57. Which On? of the f;um?’lntg. COI;I;:::m?
in Reeircu]m~ P its own (Satellite avigation 7 )
, Considey 11 Ing A'quaculture System, - —
) ¢ fo OWing Statements :
1. i 13}
;Oﬁlte Proviqe Waste treatment (a) Austraha\
r .
“Movin Neaten figp feed,
2. Bj , ”
Slofilterg Onvert AMmonjg Present (b} Canada
In figh Waste to Nitrate . W PR
- ' *\ r)
3. Bloﬁlters i ’

. Crease h
Muatrient for i

Sphorug as
ﬁSh in wa

ter.\t~-

Statements given

(c) lsrael"‘

(d) Japan”
a) Onjl
“ oY ones 58. Consider the following Statements -
(b)  Only two
1. B Nistic issi]
(c) An three allistic missileg
(d) None

56. Consider the following Pairs

Objects in Description
space
1. Cepheids Giant clouds of dust ang
gas in space -
2. Nebulae Stars which brighten and
dim periodically —
3. Pulsars

Neutron stars that are
formed when massive stars
'un out of fuel and collapse

How many of the above pairs are
correctly matched?

(@) Only one
(b) Only two~
(c) Al three
(d) None

23
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of ﬂight.\\

2. Agni-v is a rneqium-range
Supersonic Cruise missile, while
BrahMog is a solid-fuelleq
intercontinental ballistic missile,

Which of the statements given above

is/are correct?

(@ 1 only

(b) 2 only

(c) Both 1 and 2
ither 1 nor 2
(] Neithe
| P.T.0.

are jét—propclled
at  subsonic
their flights,
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59. Consider

4 he
regarding Mere

1.

following statements
YTy pollution :

hennal POwer plants
Ty Pollution

€ aboy
Correct? (S statements are

(@ Only one

() Only twe o

€ Al threy’

(d) None

60. With reference to Kgreen hydrogen>
consider the following- Statements -

L. It can be used directly as g fuel
for internal Combustion, \

2. It can be blended with natura] gas
and used as fuel for heat or power
g€neration.

3.

It can be used in the hydrogen
fuel cell to run vehicles,

How many of the above statements are

correct?

(a) Only one

(b) Only two /
(¢) All three

(d) None

X[ymm
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61. Consider the following countries -

1. Bulgaria
2. Czech Republic +#
3. Hungary -
4. Latvig .,
5. Lithuanig
6. Romania -
How f th
count,lies Share 4 zovg—mentlon.ed
aines; Order With
(a) Only twe
(b) Only three
(c) Only four~
(d) Only fiye
62. With reference tq the Eargys e
Which one of } E}I‘.E"gatmosph o
g state nte -
correct? Ats g
(@) The total amoy .
Teceived at the ent of _lnsolatio
b _ quator 1S g n
about 10 tipag of that ye..0Uhly
the poles. Ceiveq at
(b) Infrareq rays constit
two-thirdsg of insolatigrlll_ Sughl
(¢) Infrareq waves are large)
by Wwater vapourg 4 abstorb q
concentrated in th Ny
atmosphere. ¢ lower

(d)

Infrared waves are a part of
spectrum of electrq

. Vlslble
¢ Magnetic
of solar radiation, _

W ave S

[ PT.O



63. Consider the following statements g
(X ' Statement-] -

65. Consider the following statements
The soil in tro

1. In a seismograph, P waves are
pical rain forests is rich recorded earlier than S waves.

Stm nutrients. - 2. In P waves, the individual particles

?Ft}fmer%t‘n : _ X vibrate to and fro in the direction | ;
of e E}g@ t?mper:_ature and moisture of wave Propagation whereas in
q g’g‘;iic I‘:;l&er f_orest;s c?luse S waves, the particles vibrate 1
€COmpose quickly | - the soil to and down at right angles to the
_ Y- direction of waye Propagation. t
Which one of the following is correct in ) ishall
Tespect of the above statements? ?\Slhmh of the statementg given above
(@ Both Statement_g and Statementj are correct?
are correct ang Statementj g the (@ 1 only
COrrect €Xplanation for Statement—l (b) 2 ol
(b) Both Statement—l and Statement-yj Y
iri (i‘;)]rrect and Statement—j is (¢} Both 1 ang g~
o e c i .
Statement_ImTeCt explanation for (d) Neither nor 2
(c) Statement-l is corre i
ct  but 66. With reference 4,
tatementyj is incprrect pOWer. plants ir? I;oaii_:ba::d .thermg
(@) Statement-y s incorrect but X follo\mng Statementg . ° COnsider the
tatement_y is correct 1.
¢ None of them uses seawater
2. None of 5
. Water-sty - t up in
64. Consider the following statements 3. essed district
Statement-| - ' one of them is Privatel]y OWned. X
The temperature contrast between How man of tha L
A g t
continents ang oceans is greater correct? Y he above statements ar
during sumther than in winter, fl s
a -
Statement-I] - Y one
The specific heat of Wwater is more than (b) Only two?”
that of land surface. (c) Al three
Which one of the following is correct in (d) None
Tespect of the above statements? ‘
o — 67. Wolbachia) ' -

(@) Both Statement-I and Stati:mt;nttgl e 1?{9 1,?5‘“1“3&;0(1 is SOmetimes talkeq
are correct and Statement-II is the WIth reference to which one of
correct explanation for Statement-] :/ the following?

o 1l s i t=11 (a) Controllin th : N
Both Statement-1 and Statemen _ © viral g;q

. are correct and Statemer}t—ll 1s Spread by mosquitoeg. SA5ES
not the correct explanation for (b) Conv_erting TP resiques -
Statement-I packing material

- ; but . .
(c) Statement-] s correct (c) Producmg blodegradable Plasticg
is i ect
Statement-II is incorr _ _
) , ct  but (d) Producing b;
Jﬂ) Statement-I is  incorre
Statement-II is correct
Ve

ochar from thermg-
chemical conversion of biefhass

27
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68,

69,

Consider the following activities -

1. Spreading finely ground b/.asalt rock
on farmlands extensively

2. Increasing the alkalinity of oceang
by adding lime'

3. Capturing carbon dioxide released
2Y various industries and Pumping
1t Into abandoned subterranean
Mines jp the form of carbonatedq
Waters

Hfow any of the above activities are

often Considereq d iscussed for

arbon Capture ang Sequestration?

(a) Only ope” "

(b) Only twe

(© Al three

(d) None

best refers g
wing Situationgp

( . Samples from, air
N a habitat at one go
Understanding the genetic makeup
of avian specieg of a habitat#

(c) Using air-borne devices tg collect -
blood Samples  from moving
animals

(d) Sending drones tq inaccessible

areas to collect plant
Samples from land s
Wwater bodies

‘Microsatellite D
of which one o

(@)

NA’ is used in the cage
f the following?

Studying the evolutionary
relationships among various
species of fauna

(b) Stimu]ating ‘stem cells" to
transform into diverse functional
tissues

(c) Promoting clonal propagation of
horticultural plants

(d)

Assessing the efficacy of drugs oy
conducting series of drug trials in
a population -

XDTG—F—GS’I‘/ 62A

T1.

72. With

29

Consider the followin
reference to India -
1. According to the

Medium Ente
(MSMED] Act
enterprises’
investments

g statements with

Micro, Small and
rprises Development
» 2006°, the ‘medium

are  those with

 the Micro, Smal]
Enterprises,_oqualify
under the Priority sector,

is/are Correct?

(@ 1 only

(b) 2 only.

(c) Both 1 and 2
(d) Neither 1 nor 2a

Bank

th to Centra]
digita] currencie%(:onsigré 1
statements 3 oving
1.

T the foq
tt s Possible to

n g digital cu
US Ire

is/are correcty
(@ 1 only
(b) 2 only
() Both 1

and 2
(d) Neither

1 nor

sellin n
ifferent platforms

an investrnent

portfolip Manager
versus reward
() a type of
arises where
Ppossible

a numerijc
fluctuation
in the oy

Simultanc()uS s
of buy Ing

asset from

Strate

of
to balane

€ risk
Systemic

risk
Perfect hedging at

is noet
(d) value that me
S of g stock

erall Stock ma

aSureg the

to changeg
rket -

[ P.T.O.



74, Consider the followin:

g statements -

L. The Self-Help Group (SHG)
Programme wag originally initiated
Y the State Bank of India
by Providing  microcregit to the
ﬁ1'1‘311<:16111y deprived * -

2. in an SHG, all members of 5 grou
akt? responsﬂ)lh'ty
an in

3 ber takes,
ol K e
u om i
SUpport SHGs. mercial Banksg
How 1
correct',?ny °f the above statements gre
(a) Only One

delivery, the States are
Primarily responsible for organizing
health services. .

Which one of the following is correct in
respect of the above statements?

(@) Both Statement-1 and Statement-I]
are correct and Statement-I] is the
correct explanation for Statement-]

(b) Both Statement-I and Statement-I]

are correct and Statement-II is

not the correct explanation for
Statement-] »~

(c) Statement-I is  correct but
Statement-II is incorrect

(d) Statement-]1 is incorrect but
Statement-II is correct

XDTG~F—GST/62A
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76. Consider the following statements
Statement-] -

. T of the world’s
withdrawa] each year,

more than

Tinkin el
and sam‘,catlon Needs of almogtwiig’:/r/\
of World’s Population livi .
terntory.

g in jtg

(c) Staternent_l
tatemen

COrre t
(d/) Stateme

1 ig incorr
nt-]

Providing .
‘ Person bejy, e
Preventive detention.

According to the Prevent;

! Ntion
Terrorism Act, 2002, confessiop 21;
the accuseq before the ~Police
cannot be useq a¢ evidence.

How many of the above Statementg are
correct?

(@) Only one”

(b) Only two

(c) All three

(d) None

[PT.0.
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(b)
(c) Ecuador

(d) Somalia

the
Managernent Committ

€es are key
to the realization of the objectives
of the Nagoya Protocol, ™

Bio diversity

2. The Biodiversity Management
Committees have important
functions

in detcrmining access
and benefit sharing, including the

power to levy collection fees on

the access of biological resources
within its jurisdiction.

Which of the statements given above
is/are correct?

(a) 1 only~
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

XDTG-F-GST/62A
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80. Consider the following statements

respect of election to the p
India :

—

in
resident of

House of the p
Legislaﬁve A_ssg{g i
also eligible to be j ded
Electoral College. 7(

2. Higher the Mumber o elective
AssHe_‘rr_ﬂ_)-l_y_w Seats, Thigher Is  the
value 9{ vote of eacﬂviﬁf..A ohf fi;at
State., - T
= VDo 250

Sit >

3. The value of Vote of each MLA
of Madhya Prade h is Cater t
that of KeralaV o

4. The value of Vote of €ach Mi,
of Pu% is highey th T}-T{__g
of Arun'icihal Pradesh E{Eans-e th
ragggf tote}Lpolelation to tota]
Number of elective eats
Puducherry is

ts 5
greater g comy
to Arunachgy Pr

correct?

(@) Only one
(b) Only two »~
(c) Only three

(d) Al four

[P.T.0

The members Nominated to either

aflia:nenjc or the

7



81. \Vlth refere

° th - '
X Alexange, a, A € Indian History,

Sewell, j ; H Longhurst, Robert
s Burge o and Walter gyji,

were aSSociat With

(a) arc:haec,log-1

(b) establish,

of
Co1onia_1 Sl Nglish Press in
(c) establishrnent 0 Churches 1
Princely Stateg "
(d) construction of Tailwayg in
Colonig] Indig +

82. Consider the following Pairs -

Site Wen known for
1. Besnagar : Shaivite cave shrine
2. Bhaja

: Buddhist Cave shrine

3. Sittanavasal : Jain cave shrine

(a) Only one
(b) Only two
c) AN three

(d) None

ADy O-F-GST/622

.

9

83. Consider the following statements -
Statement—] :

7th August is declare
Handloom Day.

Statement—-II 2

d as the Nationa]

(c) Statement—l is Correct but
tatement«II is incorrect
(d) Statement~l i

s incorrect
tatement~II is Correct

but
84, Consider folloWing Staternents i
Tespect of € Nation ag of In dlig
accordj .
2002 :lng = e Flag Code a1 Indiq,
Statement-I :
e of the Standarg si
the Nationg) b

lag ¢ Ing;j o
600 mm X400 mm, nha s
Statement-ll :

he ratig of the length to the
(Width) of the Flag shay be 3.
Which ope of the following 1
In respect of the 5

bove Stateme
(@) Both Statement

~I ang St
are correct and Stateme
correct explanat

nt-I1 is the
lon for Statement—l
(b) Both Statement| and S

tatemenbll
are correct ang Statement-]] is
not the corr anation for
Statement-]

(c) Statement-| 1S

i

height
2,

nts?

ect expl

Correct but
Statement-11 is Incorrect %
(d) Statement-1 ig \ncorrect  py,¢
Statement-11 is correct

r )
v

[PT.O
35



85, Consider the foll
Téspect of the ¢
Statement—l !
The ¢
26th N
Constitution

taternent—ll i
n

COnstituen

Statement—II :
Switzerland
gold reserves

Which one of

in respect of t

(@) Both State

(b)

(c)
(d)

owing statements in
onstitution Day

onstitution Day
ovember eye

al valy

1s celebrated on
Y year to promote
€S among citizeng, ./

26th November, 1949

the
Ssembly of India get u
Co i

tate —
not tpe Cortan ment-I1
Statement—-l

Statement~l
tatement—II is
Statement—l

is Correct

_ but
mcorrect

incorrect

but
ITect

has the seccigd largest
in the world

the follo

wing is correct
he above

statementg?

ment-I and Statement—ll
t and Statement—II is the
pPlanation for Statement-]
Both Statement-I and Statement-[]

are correct and Statement-I]
not the correct

Statement-]

are correc
correct ex

is
explanation for

Statement-]

is correct but
F ”
Statement-I] ig mcorrect
Statement-I is  incorrect but

Statement-I] is correct

XDTG-F-GST/62A

87. Consider the following statements

37

Statement—] :

Recently, the United States of America
(USA) and the Europeagn Union (EV)
have  launcheq the 1Trade and
Technology Council’,™

Statement-j . -
The Usa and the Ry claim that
through thig they are trying to bring
tec nologica] Progress ang Physica]
product1v1ty under thejr co

.t . aternent—II is
ec i
k( Statement-l explanatlon for
Correct
Trect
is inco
tatemenbll is Corre

but

Trect but

g statementS .

for 3'20/0 of

Which one of the
N respect of the Oove statgerf
(a) Both Stateme —~

are correc

(b)

(c) Statement—l

N COrrect
Staternent%l is incorrect i
Ld)/StatemenFl is INcorrey but
Statement—ll 1s Correct
\/

[PT.O.



folq i
Th ¢ = State Cntg
e Stabll ty ang
Eumpe i« OWth b
an y f
: lon 1 a t the
/ h . reaty t at
;I?ts the ley S of th
Blrope, Ung Cmmmes) e
. Makeg the o
EurODEa_ Ungo2UWntrigg of
Mfragt On. _t(_) Share
3 Snan) N faeﬂme -
Ry oS COUntreg £
U.rope Ul’ll()n N 0
techy, log © share their
Hoy,
Correney the 5 Ove ternents ar
(a) Oniy on,
(b) Oniy two
(© Ay three.
(d) None
90. Onsider the followmg statements :
1 ccently, all the COuntrieg of
niteq Nations adopteqg the
ﬁrst—ever Compact for inte ationg]
rnigration, the «q Ompact
or Safe, rder] and egular
Migration, (Gemy,” 4
2. The Objective

Commitmentg

How many of the above gt
correct?

(@) Only onew”
(b) Only two

(c) Al three
(d) None

XD’I‘G-ILGSTIﬁzA

ives and

atementg are

39

y
91, With Teference to Hom Gu S, consider
" the follo ng tatemen
1.' Home Guarqg Taised uUnder the
Ome Guarqg Act ang €s of
the Centr 1 Goy ment
2, The role o the Ome ds ig
to se e auxiliary Ce to
the Police majn €nance of
IMterng) Secy
3 To  pre ent Utratigy, on  the
1nternat10na1 b der/c Sta] Aregg
the Borde, g8 H Guarqq
attaljg € bee raig i
Ome g¢ t &
How of t
con-ect? Y e ove st ternents are
(@) Only One
(b) Ny twe .
(c) three
(d) One
92, With €rence t :
following Pairs -~ ndig, “Onsige, the
: The t
Action, Whicp itcisuc'lder
1 Unauthoriz ®aring The Of; overed
f police it 1Cig) e
uh‘ﬁb*—ﬁs Rt Act, 1923 Cret
- Knowj rnisleadin The .
Or  oth ise Mter_ denge pdian Evi.
ferin Police t, 1872
officer militaxy
officer h ngaged
in thejr dut
Celebrat, Sunfjrq Th
which Can ange, m;tl;\lzns (Arnend\
he Persong) ¢ fety of ct, 201g
othersg
N
How Many of the :
Correctly Matcheqn  Aboyg Palirg are
(@) Onyy One ¢
(b) Only two
(c) All three
(d) None
l E\lﬂl\ ()



93. Consider the following pairs -

Regiong often
Mentioneq in news

Reason for being

n news

: War between ~'\
"\, Armenia ang

\ Azerbaijan
2. Nagorno-Karabakh : Insurgency in +
Mozambique

* Dispute between
Israe] and Lebanon

ZaPOI'izhzhia

Correctly Mmatched?

(@ Only one/
®) Only twq

() ay three

(o] None

above pairs are

eStablished

diplomatic
SO0me Arap g

tates:

are correct and

Statem
correct explanat

ion for
Both Statement-

ent-II is the
Statement—l

I and Statement—ll

d Statement~ll
not the corre

Statement—l

(c) Statement-] g correct.  hut
Statement-I] is Incorrept”
(d) Statemen =1 is  incorrect byt

Statement-I] 18 correct

XDTG~F~GST/62A
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95. Consider the followin

to sporteAgwﬁar_qs -
1. Major Dhyan Chang -

g pairs with regard

For  the most
Khel Ratna Award Spectacular and
outsta.nding per-
formance by a
Sportsperson over
period of last four
Yyears
2. Arjuna Award : For lifetime
achievement By
- . a sportsperson
+ Dronachary, Awargq . To honoyr €minent
Coacheg wh have
Succegg Ly traineqg
sportsperso or
e S .~
4. Rashtriya Khe] ‘1 To ghniz
Protsahap Puraskar co i ® o he
: ntnbution
— B ade
X y
o Sve Sp lgisrpersot{s
" retlrement i
ow Y of \bon
Correctly Matcheq? o Pairs fre
(a) nly one
() Only tyo &
(c) Only three *
( . (@) An four
96. \Consider the follgws
'Win .
\ reéspect of the 44th %} :tsi:tt}lonlent T
2027 . — Plaq,
D 0 Was the first time that Ch
Olympiag WVas helq iy Indj sss
2. The officia] m
Thamb;, O was S
3. '_I‘he trophy fo the NNing tea
N the open Section g the Vexr-n
Menchik . 2
4. The trophy for the Winning team
mn the Women's Section g the
Hamilton-Russell Cup.
How many of the Statementg glven
above are correct?

(a) Only one
(b) Only two
(c) Only three
(d) Al four

41
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97. Consider the following pairs :

Area of conflict

A . Country where
mentioned in neys it is located
) VLAY
- Donbag Syria ¥
2. Kachin Ethiopiaf
3. Tigray North Yemzn
(TN
How many of the above pairs are
correctly matcheqs
(@) Only one
(b) Only two
{c) Al three
(d) Nons'

98. In the recent years (@ad, Guinea, Malj
and Sudan faught the international
attention for which one of the following
réasons common to all of them?

74
(@) Discovery of rich deposits of rare
earth elements
(b} Establishment of Chinese military
bases
(c) Southward expansion of Sahara
Desert
(d) Successful coups
43
XDTG-F-GST/62A
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99. Consider the following heavy industries :

1. Fertilizer plants '

Oil refineries

Steel plantg

out
1. The G-20
u
Establisheq ap 1‘:2‘8 il
o)
glnance isterg & Oor th
inT:k "OVernorg to dise Central
fi m?-tl()nal eCQnO s B the
Mancia) iSSucs_ Mmic ang
2 Digita] Pu

lic j
of Indigy’ lnfrashuc Ure ;
a’s G- Prioriti.. © IS one
les,

Which of the

Stateme
. nt
1s/are correctp s

(@ 1 only
(b) 2 only”
(c) Both | and- 2

(d) Neither | nor ?Q
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